Today is 15th January,2011 (Saturday).Today, I gave the aptitude examination of Syntel.Our reporting time is on 8am.A online aptitude examination conducted at our college.A 45 minutes of exam which contain 45 question and each question contain 1 mark.I remembered few questions.One thing, you have to remember that there is no negative marking and if you skip any of the question to do in later period,you cant do that.So, be careful about that.Once you skip the previous page,it cant be done later.

1. DESIM is coded as CAMEL,then TIGER is coded as "______"?

2.COLOUR is coded as OCOLURL,then SPECTRUM is coded as "______"?

Ans: PSCERTMU

3.Three dog Roxy,Tiger,Jack.They want to be a friend of  2 cat named Sally and Billy.Among the 3 dog,one dog failed to make a fiend.Sally and Billy succed to make a friend.Then, Tiger succeed to make friend with?

4.A's father has a mother K and K's husband is T and T's brother is M and M's grandson is S.Then what is the relation of A and S?

5.4,8,5,7,6,_?,_?

6.5,10,17,26,37,50,_?

7.(A direction question,but cant remember the exact question) Africa is north of Atlanta,greenland is in the south of Africa,Aulica is in the east of Atlanta and in the west of New Zeeland and Texus is in the South of  New Zeeland.So,Africa is in which side of Texus?

8.In a job seekers line,every 3rd man is liar and every 4th man is a B.Tech holder.Then how many B.Tech holder are liar?

9.MARRIAGE is coded is AMRRAIEG,...then you have to find some thing code that I cant remember.

10.Some questions are from Logical Reasonig.

11.Some questions on probability.

12.Arrange the sentences A,B,C,D in a logical sequence to form a coherent paragraph. 

A. It is because Japanese companies do not have to pay the consultancies’ inflated fees the argument goes ,that companies have more money to devote to ‘real’ investment and because they are not tempted to follow the latest management fashions that they can develop a coherent ,long term strategy.

B. The average salary man,relaxing after a ten hour day over yakitori and sake, hardly Spends his time talking about Drucker –san and Peter-san .

C. It might seem far fetched to argue that Japan’s post war growth has anything to do With management theory.

D.Critics of management theory happily point out that thirty years after arriving ,

Western consultancies are still to make ends meet ,and that Japan has few business 

Schools ,none of them very prestigious.

Options: 1. CADB 2. CBDA 3. DBAC 4. DBCA

(2-3 this type of question)

14.Odd man series out question.

I cant remember the other question.

I prefer to practice more on LOGICAL REASONING and ENGLISH part for Syntel.

Best of Luck.
